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1. Let f(x) = 4x� x2
and g(x) = 3.

(a) Find the coordinates of A and B, the points of intersection of f and g.

(b) Calculate the area enclosed between the curve and the line.

2. Let f(x) = x2
and g(x) = 2x2 � 25.

(a) Find the coordinates of P and Q, the points of intersection of f and g.

(b) Calculate the area enclosed between the curves.

3. Let f(x) = 7x� 2x2
and g(x) = 3x.

(a) Find the coordinates of A and B, the points of intersection of f and g.

(b) Calculate the area enclosed between the curve and the line.
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4. Let f(x) = 2x2 � 6 and g(x) = 10� 2x2
.

(a) Find the coordinates of K and L, the points of intersection of f and g.

(b) Calculate the area enclosed between the curves.

5. Let f(x) = x3
+ x2

and g(x) = 2x2
+ 2x.

(a) Find the coordinates of A and B, the points of intersection of f and g in the first quadrant.

(b) Calculate the area enclosed between the curves in the first quadrant.

6. Let f(x) = x(x� 3)(x+ 3) and g(x) = 7x.

(a) Find the coordinates of A, B, and C, the points of intersection of f and g.

(b) Calculate the area enclosed between the curve and the line.
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7. Let f(x) = x2 � 4x+ 8 and g(x) = 8 + 4x� x2
.

(a) Find the coordinates of A and B, the points of intersection of f and g.

(b) Calculate the area enclosed between the curves.

8. Let f(x) = x3 � 1 and g(x) = x2 � 1.

(a) Calculate the area enclosed between the curves and the lines x = �1 and x = 1.

9. Let f(x) = x3 � x2 � 7x+ 5 and g(x) = 2x� 4.

(a) Find the coordinates of A, B, and C, the points of intersection of f and g.

(b) Calculate the area enclosed between the curves.
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10. Let f(x) = x(x+ 3), g(x) =
4

x2
and h(x) = x� x2

4
.

(a) Find the coordinates of A, B, C, and D, the points of intersection of f, g and h in the first quadrant.

(b) Calculate the area enclosed between the curves.

11. Let R be the region in the first quadrant enclosed by the graphs of f(x) = 8x3
and g(x) = sin(⇡x) Find the area

of R

12. Find the area of the region bounded by y =
p
x and y =

x
2
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13. Let f(x) = e2x�x2
. Let region R be the area bounded by f and above the horizontal line y = 2, and let S be

region bounded by the graph of f and between the horizontal lines y = 1 and y = 2 Find the area of R and S.

14. Let R be the region in the first quadrant under the graph of y =
1p
x

for 4  x  9.

(a) Find the area of R

(b) If the line x = k divided the region R into two regions of equal area, what it the value of k?
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15. Let R be the region enclosed by the graph of y =
p
x� 1, the vertical line x = 10 and the x-axis.

(a) Find the area of R

(b) Find the volume of the solid generated when R is revolved about the horizontal line y = 3.

(c) Find the volume of the solid generated when R is revolved about the vertical line x = 10.
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16. (No Calc) Let R be the region bounded by the x-axis, the graph of y =
p
x and the vertical line x = 4

(a) Find the area of R.

(b) Find the value of h such that the vertical line x = h divided the region R into two regions of equal area.

(c) Find the volume of the solid generated when R is revolved around the x-axis.

(d) The vertical line x = k divides the region R into two regions such that when these two regions are revolved

about the x-axis, they generated solids with equal volumes. Find the value k.
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17. Let the region S be the shaded region in the first quadrant bounded above by the horizontal line y = 3, below

by the graph of y = 3 sinx, and on the left by the vertical line x =
⇡
4
.

(a) What is the volume of the solid generated if S is revolved about the horizontal line y = 3?

(b) What is the volume of the solid generated if S is revolved about the horizontal line y = 5?

(c) What is the volume of the solid generated if S is revolved about the vertical line x =
⇡
4
?

(d) What is the volume of the solid generated if S is revolved about the y-axis?
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18. The base of a solid is bounded by y =
p
x and y = x3

. Find the volume of the solid with each of the following

cross sections:

(a) Semi-circles perpendicular to the y-axis.

(b) Rectangles perpendicular the the x-axis whose height is
1
3 their base.

(c) Isosceles Right triangle perpendicular to the x-axis with a leg in the base.

19. Let f(x) = 2x2 � 6x + 4 and g(x) = 4 cos

⇣⇡x
4

⌘
. Let R be the region bounded by the graphs of f and g. The

region R is the base of a solid. For this solid, each cross section perpendicular to the x-axis is a square. What is

the volume of this solid.
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